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WfeTe Bfe 2/ArF 039-38 f*wE

Ay AN

3) Pl eFifae FaeT «a g @ e
& e

a) oreifE

b) FHEAT *fE

d) sfe=fe
) Which one of the following is an
abstract noun?

a) Child
b) Childhood

c) Family

d) Boy
©) G GTEd SRAIPae S SRww Q&

a) K

¢) "G

d) Rb
8) TP SN GF (T RIS GF e
TG IF T (1 ST T @ o
= o7

a) mﬁ%ﬁ

b) > EREEAd =&

d) ¥ IEASE S
@) SRR CFaTe fRed T T Eed
sfasr Fo?

a) femeq

b) viEeq

d) fasa
v) @ clifee e St SR ¢ R[Ror
Tt o o

b) wzFd T

¢) Sfee GIEIRE 4

d) ¥ fesm =
q) 18°C ST 0.8 atm BiC GIH VEH
g 2.25gL° T @F AqiRE o7 997

a) 2436 g mol”

b) 36.63 g mol™

c) 6711 g mol™
d) 36.24 g mol”
V) FRAS -
a) fafen @r-a=&Ey {efare @S [

b) =nETETECEE A Afafbe

) 60°C SIt?l *TA

d) feasa (DNA) @7 & TAmE
5) A AR A CifEe 2w -

b) #AFFE (stomach)

¢) fe®tea (Duodenum)

d) e (ileum)
So) Iea W e RfdFar 2Rugree
LT (T o @

a) Neon

b) Helium
c) Oxygen
d) Nitrogen
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») e Al T

a) e

b) T

c) e

d) @&
3) 250 mL 0.1 M Na,CO; &% &¥® FAS
F© &8l Na,C0, AASI?

a) 265¢g

b) 2.65¢

c) 106¢g

d) 1.60¢g
>0) AR TP T «ifFre =
@i Siffrd?

a) > QA

b) > =B

¢) 38 (FFAME

d) 28 @t
38) 20 cm® 0.25 M H,S0, &IIF Cefieaea
H weisfEe Tare & «Afdat «ifS st
TACS A7

a) 10 cm’

b) 30 cm’

c) 20cm’

d) 50 cm’
3¢) IR RAw @b Fw?

a) «fS szarTETe g @t
b) &M oS JFEET @ @eF FEd

c) fare ofe 927 3,00,000 @ T TW
d) AT F4ETS V. cholerae 0139
A T

Sb) TS H,S 99 FS ppm T TG &0
ettty

a) 20 ppm

b) 40 ppm

c) 50 ppm

d) 30 ppm
39) Fros tt elfbl seivT e R

%ai

d) “I§
sv) elifficery Ram e e

a) (PIE CYCT AT

b) FRGIZEE AT

¢) FAET AW GRS AR

d) 18 (FTF T (FF T=T qCF
>8) e Tt A7

a) “NfEeEas

b) TGS

c) uEegTEe

d) Framefrs
20) AW IFT (S FAT @ it v
T =7

a) CH;COOH and CH,COONA

b) NaOH and NacCl

c) Na,S0, and H,S0,

d) NH.Cl and NH,OH
R3) TS TR § e FLFR T
ek Rege

a) THHF GFE (lactic acid)

b) WEEE afE ( maleic acid)
c) T=CufaE ¢ (fumaric acid)
d) @ @fe ( oxalic acid)
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RR) @I #itfa afice wRfEHwS aet wir ot
-
a) platyhelminthes
b) Echinodermata
c) arthropoda
d) nematoda
Q) & T AT o G- gmeee
a) AFHRe GEeaE fom
c) f&=m= canfom fam
d) ce-fgm
38) ISR e A6 o 7w =7
a) A (Projapoti)
b) W™ FEe (Ghas Foring)

c) @7 AN (Google Bangla )
d) it (Pipilika)

) JEBA =7 7 TAOT G2 WO~
e fig e (mL) ?

a) 0.001mL

b) 1.oml

d) 0.01 ml.
Q) @I qEIRN JRFORA R/ FA-

a) coofAe

Rp) The antonym of the word
'impediment’ is:
a) helpful
b) hindrance
c) obstacle
d) useful
3p) GEfEds s @ I 3@
a) 74E ACForE fAfe T
b) ©I% TesAmd FF
c) CSIFoE FEEd F
d) #1ZA (STEF FoTS I
o) "Call it a day" means:

a) spend the time

b) open an event
c) finish work

d) fix an appointment

o)) IETEFEAT IR FFFCEA T
Teoirast sffow caro & fewEe
a) WheAm e
b) e =M
c) T wEEEE e
d) FuEe w4 Hez
oX) ZeefEF Jfdre e I Jage =
a) O A
b) =it &t
c) TS Al
d) cTerE 3t
vo) ReteiRtm @F weet co’ 1@ T
a) -NH,
b) -HCO,
c¢) -COOH

vy cwfsgen aom e s e
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d) -OH
8) ¥ FHpie T TeEe B3t
@He -

a) (POTeIEs

b) zAABEGH &

d) @ifeE 3

o¢) (o SRt REw @ A -
a) 4 DNA SZF™
b) @t @Zear ezArE Tazad

) WIEE A WE IgM BTG @
“Neal T
d) wyqwrE afest areG(Aedes aegypti) S
@ e
@b) Choose the correctly spelled word:

a) renaissance

b) renaisance

c) reneissance

d) reneisance
©9) TR I LAFIER w Y g
TN TG (ST e

b) ¥

c) oSl

d) I& ¥4
ob) T, Ffb G GPT AT Vot @
REIF T

a) I&F 2qe

b) fox zar<

c) «if =@

©d) Which one of the following is an
example of an indefinite pronoun?

a) such

b) either

c) this

d) any
80) 7fb wifR® @ ~F=ET MY KIS
FACT AR AR @ e T3 o @i
SRS ERMERSEERC

a) fes faeq

b) SfEeerey

c) =yt e

d) sfesrwa
85) @ g Wy & @ [Rega
4R 2

a) A @ FWeAl

b) T ¢ ™

c) @& 8 HI&

d) == 8 e
82) fsa Al fiat =1fwiwr et 3 o

a) K

b) Al*

c) Ni”

d) Na’'
80) WA G TSSO e Pt
@i?

a) Haemolysin «fGafe T Efee

o e

b) «fetarTEGE FEEE E ETe
Flow @

¢ fta TeE FEsio fofq =@ Al
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d) 2 M7 lysolecithin =@l (Fiifze
Ferw |
88) Mo P @I @ @I WrH @FIE
RS T AE?

8@) Select the correct word to fill up the
gap in the sentence, "He complained to
me____ your conduct. "

a) on

b) for

¢) about

d) of
8Y) Choose the correct one to fill in the

blank. "I came to England English".

a) to learn

b) for to learn

c) to learning

d) for learning
8q) ey g viegt <o Mg Ffer 3
CFGE o ey ot Rete Tgfe wre
I SifAra?

a) Wo TA(SHET WY
©d TEEE 039

c) 9o GI*HFA 039

d) od TTSHA 039
8b) 50 mL [ ¥I 5g CaCl, |CR |
fordte efS = Bt I@?

a) 10 gL”’

b) 110 gL

c) 101 gL"
85) FINFGLRE G ~Bifm g Tes
T 6 sthemt w7

a) Methyl alcohol
b) Methane
c) Ethyl formate
d) Acetylene
o) (FIN JFBRET TS FHCe Qe Ifw?

a) Mycobacterium

b) Clostridium

¢) Vibrio cholerae

d) Salmonella typhi
¢Y) Few men are free from faults. Here
'few means.

a) none

c) some

d) not much
@) M il e A e fre
S GRS @ <E?

a) ¥4

b) wPTEEe

c) W

d) g
@9) What is the correct indirect form of:
He said "You had better see a doctor"?

a) He advised me to see a doctor.
b) He advised that he should see a

doctor.

vy cwfsgen aom e s e
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c) He suggested that he had seen a

doctor.

d) He proposed to see a doctor.
¢8) crdifm Raw @b A
a) Sy TEE 4
b) TEEER A (@EATANE RS T4
€) TAGTA (RNA) @22 cenfom frm oo
d) cifhen e
) Jvwete wiReE @Rl @mb?
a) Fo+TT ¢ TEAm Afermd
b) febifm =
c) HMEFTIE FErae

d) % afE= afFE ( oleic acid) o
Gb) TEHNST T AYHSEW @ W
wfarn 2

a) €O,

¢) H:

d) Ar
@4) The synonym of the word "amm:hy"
is:

a) discipline

b) lawlessness

c) placidity
d) serenity
¢v) fFea i ame s
a) (CH3)3C-OH
b) CH3-CH=CHCH,
¢) NO.CH.-CI

d) CH,CH(NH:COOH
@5) Choose the word which never has a
pleural form:

(a) information

(b) mouse

(c) woman

(d) inventor
wo) HIEw @FIF TAMH T W
AL T -

a) «erfEe

b) cgfeEim

¢) G

d) wEETEm
1Y) "CIBER o 0 e wRerfin
iU @7

a) wE Tiewm

b) *@ GUTHH

¢) 49 feoam

d) = T

w3) b e S fow st
PRICE ¥ s e o =0-
b) @fe=mat
c) T
d) FarEE
4®) We work every day except Friday.
What part of speech is 'except"?
a) adjective
b) conjunction

¢) adverb

d) preposition

“B) (T T T T T
a] c:H.h 0'!

b) €O, 0,
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c) N, 0,

d) N, CO
ue) =it gt pfbTas we W
I O =+ w1t e

a) Zn"

b) cu®

c) Na

d) NH,
wi) 3w IR & Tl giRT wow @
) I AT WM 7 AR T
TE7

a) 75%

b) 100%

c) 50%

d) 25%
©q) ceAfbe ot Tuf v = -

a) oA e feem e

TR (U
b) THCERR wew T TR AT

¢) WEDINE Eames e

d) FTE @S ST (A
bbr) NTP (% 2.24 L 0107 ¥ Co,
molecules 9ICF7?

a) 6.011 X 10"

b) 6.023 X 10%

¢) 6.023 X 10

d) 6.023 X 10
) TF NS G0 HHT TS T
H T% Rt

a) 3

c) 4

d) 5
q0) (1 o o e T o Bfee e
cfdremzta Rt T

b) EetsffE fmma aew @

c) ﬂﬁﬂﬁﬁﬂ'ﬁﬁ'ﬂﬁﬁ

d) =reeife famm «mrew @
q3) terater i AR

1) EES HEE @S B N T

b) #9E e 7 bEm ffere wm
AECEA 1 T
c) emm e e 1aw
Cic
d) G- A oE IR T8
FE
%) TRY o IR TR W ¥
oy +E "o SraRee gy PR
e
a) daby
b) %90
d) dabo
Qo) I W TAX T WYY TS T
T T A AT o -
a) TR, TAR G @ @9

b) =% @ @9
c) =97 M @ @9

d) F=°M% e TF% A
98) Choose the correct sentence:

a) | do need some furnitures
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b) 1 need a few furniture
¢) 1 need a few furnitures

d) 1 do not need furniture

qe) “oit 85" & et FTTE

b) cm ez

c) ™= e

d) e o
Q) = SANCE IS IS T W A
FIT o AT A -

9q) giEcEIEH R Fwa R A

a) coifrE e =% = o7E

b) Efew oz Fws um e e
¢) wmETER Eare A A q@e T
d) e Fdfera a4dm
qv) IR el Y ey
a) «ft Fremafn e cemEeEes T
sifre

b) 4TS (@ GEEa 4 A
¢) «ft @ gbias a8 w9

d) «fe nlr-g-:- HAEE MeETe Faad
LI

93) e mfiee wiity efems ot 3R

= [

tro) H, FTHA CT09 SLATS '8 e &
@A IIGS T

a) nicke] (Mi)

b) silver (Ag)

c) graphite (Gr)
d) platinum (Pt)
t3) Find out the mis spelled word
a) suggestive
b) symbolic

c) symetery

d) scintillating
) @ T i e
oifts Gigs 1 Ffea T

v8) What does the phrase "keep your
chin up" means

a) be cheerful

b} be brave

c) be careful

d) be smart
v8) e T WG (Lysosome)
ey -

a) Fafweems FEHeE 4T

b) T WA N WS 4T A

c) cefon AEwa fym T

d) ffen varm awezs 49

ve) FF YA fE g S W
A -
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b) FEEAE
¢) FAEAm
d) e afe
bb) I 0o T H atom F&?

a) cyclohexane

b) dichloromethane

¢) iodoform

d] hexachlorobenz

rq) BN WIGEIES € KOH (ag) &
Rftmm @b Besy

a) ethane

b) ethyne

¢) ethene

vb) G Sl IR FE A R A
a) 8-9 grams
b) 2-4 grams

¢) 5-6 grams

d) 4-5 grams
') 30°C T KCI 7 BT 37.2 g /
100g *iff 1 85g KCl G & &3 oFS
A0S Fepy Af ey

a) 23095 g

b) 230.56g

c) 22880 g

d) 22849 ¢

¢) fera e

d) ffem
»)) A Fl IS s wer enw
oot I -

a) *MEE WEm

b) ETEEEEHA WEAH

¢) FqEEEm 4m

d) @fags T5=me
33) GFIN ST CEPWN € FETgLs
CHT I [ AT TH?

a) 32°

b) 40®

¢) -32°

d) -40°
30) ARCER I IO T (@ % WS *I
oy Sl Fe?

a) 10 wm™

b) 10° wm’”

¢) 10" wm™

d) 10" wm*
28) fl Tuw SArt fledt Tt g Al
TS TGA?

a) 49F2 4TS

b) faed

¢) Hhsd
»0) Big afE @ 9 Wi SRUMTE W
Toige o -

a) phenolphthalein:

b) thymol blue

c) litmus
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d) methyl orange

BY) FRDTS Qe ¢ WY 7 TR 47

a) CH.CI

b) Mg0
d) F;
»q) FEfEFn plins wefinm v v =
-
a) fidhrm ofe fam 7w =
b) fag Brerala o ==
¢) fiedre «fe gafye w=m o
d) feg W8GR comarer= =m
av) WroTR fRfeR et Piftes o
o o wfwer
a) FIACCE (T WA Sl
fs =
b) wTElEE @ wnee fgm wne
¢) =fFmmz 7rE oL TwemsE I
L
d) Ffere Tferw af #i2 =12
»3) (7 IS wifty NaoH o e ffaw
T3 AN
o) CHHOH
b) C:H,COOH
¢} C,H;0H
d) C4H;COOH
so0) Fitea A v Taret st

d) =mm

TS -

7% MEDILOGY

v e T e o e




